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A knot diagra

Ideals for irreducible component#ﬂ)f Xpar

I = (" a4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 41 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u*"*4+u+..- —u—1)

(i) Arc colorings

w- (1)

1
ag = 0

1
ag = U2

u
a3 = \uyd+u
u3

a1 = \uP+ud+u

uw?+1
a7 = u2

wt+u+1
alg = U4

w+ut+2u%+1
ag = ’U,6 + u2

w +ul +3ut+2u+1
a’ll = US + 2u4

—ul? — 2017 — 8yt — 12¢13 — 21wt — 2200 — 2007 — 12u® — 5ud
a4 = —ul? — 17 — 6wt — 5t — 11wt — 7 —6u” — 24P +ud +u

—utt — 12 — 410 — 38 — 208+ 202+ 1

a5 = \ —y!6 — 2y — 62 — 8ul0 — 10u® — 6u’ — 4u?

u® 4+ 300 4+ 20 + 1
a2 = \y40 4 4438 + ... 4 2508 + 2u?

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u*0 — 12038 + 4037 — 72030 + 1203% — 17203 + 68u>3 — 53212 + 15613 — 1020630 +
456122 — 2104128 +808u2" — 3232126 4+ 15561u2° — 4840u2* 42116123 — 5884122 4287612 —
6544120 + 292400 — 6116u'® + 279617 — 494060 + 1988u'® — 3316w + 122403 —
1768u'2 +472u'! —688u'0 4+ 92u” — 148u® — 68u” 4 24ub — 44u® 4+ 24u* — 24u3 — 4u +8u—6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cg, C
16, &7 utt + Tut 4 = 3u— 1
Cg, C10
C2,C8 utt =t w1
c3,Cs u w4 Tu 41
1 4
C4, €11, C12 utt — w4 3u 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, Ce, C7 y*t 5510 - 421y — 1
Cg, C10
Ca,C8 y Ty =3y 1
€3,Cp yt 1Ty 4 =3y -1
€4, C11, C12 yt 35y 4+ =3y —1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 0.746721 + 0.6683021

6.12347 — 4.431861

—0.64976 + 2.527491

IS

0.746721 — 0.6683021

6.12347 4 4.431861

—0.64976 — 2.527491

<

0.640826 + 0.7627791

3.41343 + 2.378391

—1.91604 — 4.498761

~
IS

0.640826 — 0.7627791

3.41343 — 2.378391

—1.91604 + 4.498761

0.577712 + 0.8229441

3.32469 + 2.155001

—4.15170 — 3.816561

0.577712 — 0.8229441

3.32469 — 2.155001

—4.15170 + 3.816561

= —0.699230 + 0.6653011

1.31088 + 0.843181

—5.61398 — 1.157481

—0.699230 — 0.6653011

1.31088 — 0.843181

—5.61398 + 1.157481

—0.624667 + 0.8791721

0.61729 — 5.778501

—7.67117 + 7.413121

= —0.624667 — 0.8791721

0.61729 + 5.778501

—7.67117 — 7.413121

= —0.729895 + 0.8077711

9.55876 — 2.692321

1.62765 + 3.284761

IS RS ESE R B -~ E~

= —0.729895 — 0.807771I

9.55876 + 2.692321

1.62765 — 3.284761

~
IS

= —0.261594 + 0.8664481

0.30761 — 5.873251

—8.98780 + 8.129411

= —0.261594 — 0.8664481

0.30761 + 5.873251

—8.98780 — 8.129411

= 0.646192 + 0.9014691

5.35322 4 9.587011

—2.83138 — 8.650511

= 0.646192 — 0.9014691

5.35322 — 9.587011

—2.83138 + 8.650511

= 0.211383 + 0.8481551

3.89636 + 2.179081

—14.9383 — 5.24681

= 0.211383 — 0.8481551

—3.89636 — 2.179081

—14.9383 + 5.24681

= —0.143224 4 0.8479891

—0.30668 + 1.420211

—11.22317 4 0.516611

= —0.143224 — 0.8479891

—0.30668 — 1.420211

—11.22317 — 0.516611

IS RS ESE R B A~

= 0.536289 + 0.5222001

3.94243 + 1.956551

—0.40351 — 3.682211

~
IS

= 0.536289 — 0.5222001

3.94243 — 1.956551

—0.40351 + 3.682211

= —0.918409 + 0.9332661

12.96880 — 3.085081

—2.25641 + 3.409481

= —0.918409 — 0.9332661

12.96880 + 3.085081

—2.25641 — 3.409481

= 0.928532 + 0.9239391

10.84470 — 1.036281

—5.06255 + 1.184611

= 0.928532 — 0.9239391

10.84470 4 1.036281

—5.06255 — 1.184611

= —0.909755 + 0.9489451

12.91700 — 3.645581

—2.38906 + 1.254531

= —0.909755 — 0.9489451

12.91700 + 3.645581

—2.38906 — 1.254531

= —0.936924 + 0.9229361

15.9484 + 4.97141

—0.68196 — 2.332701

IS RS ESE R B A~

= —0.936924 — 0.9229361

15.9484 — 4.97141

—0.68196 + 2.332701




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = 0.908129 4 0.9615891

10.72100 + 7.793401

—5.31261 — 5.703381

u = 0.908129 — 0.9615891

10.72100 — 7.793401

—5.31261 + 5.703381

0.930424 + 0.9499371

—19.2344 + 3.41891

1.88979 — 2.272521

0.930424 — 0.9499371

—19.2344 — 3.41891

1.88979 + 2.272521

u = —0.911356 + 0.9684771

15.7979 — 11.76621

—0.97634 + 6.845711

u = —0.911356 — 0.9684771

15.7979 + 11.76621

—0.97634 — 6.845711

u = —0.193562 4 0.5614751

—0.310431 — 0.8025981

—7.57849 + 8.411941

u = —0.193562 — 0.5614751

—0.310431 + 0.8025981

—7.57849 — 8.411941

u = —0.534709 4 0.1229601

2.61523 + 3.183051

—0.67808 — 2.908151

u = —0.534709 — 0.1229601

2.61523 — 3.183051

—0.67808 + 2.908151

u= 0.474234

—1.44617

—6.39030




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1,Cq, C
1,C6,C7 U41—|—7u40+~--—3u_1
C9, C10
C2, C8 u —ut w1
C3,Cs a0 T+l
41 40
C4,C11, C12 ut —uV 4+ 4+ 3u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cq, Cr 5510 4 421y — 1
€9, C10
C2,C8 y41+7y40+~-~—3y—1
C3,Cs y41717y40+~~73y71
C4,C11,C12 y* 435" 4. — 3y — 1




